XYZ,,=100.0, 100.0 , 100.0

8, =3[ (x=X) /)
biboizly
=1, b,y =04
X, =0,110, B, = 0,900

Crg=[AF+BA
6 OstwaldFarben (o)

Parameter:

Y & Name
Lichtart EOO
Y,=100 Y,=50

I
N . ,
von maximalem (m)C,g im ~100

Buntwertdiagram (A,, B,)

.
}

1 80G, O

Lichiart EQ, ¥,,=100 Y,=50 R

Name Bereich X
R, 5707758279 7026 50, 12 4078 ozass 5gs 489

V) 4947755173 9745 531 03786 0.4022 573 463
G2, 471575 6162 611 56.95 03055 04021 528 526
C,’ 380570 67.35 79.88 100.020.2724 0323 489 598
B, 380 494 5841 52.60 97.05 0.2806 0.2531 463 573
M2,575_471 8352 60.04 9119 0.3558 0.2775 5280528

-100+

W, 380775 100.0 100.0 100.0 0.3333 0.3333 100%
N, 380_77550.0 50.0 500 03333 0.3333 50%

7, 380775180 180 180 03333 0.3333 18%
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